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Distributive Property

You Did It!  
Finished

(6x1) + (6x1) =

Start

2x3 (4x1) + (4x1) =

5x3

(2x1) + (2x2) =

3x3 (4x2) + (4x2) =

5x4 (9x1) + (9x1) =

4x4 (3x2) + (3x2) =

3x4 (5x1) + (5x2) =

9x2

4x2 (3x2) + (3x1) =

6x2

Cut out each strip below.  Glue the start strip in the top 
rectangle to the left.  Then solve the problem on that 
strip.  Next, find the strip with the answer in the star.  
Glue that one in the next rectangle. Continue until you 
have arrived at the “finish” strip.

Start to Finish Puzzle A1
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(5x2) + (5x2) =

PREVI
EW



Distributive Property

You Did It!  
Finished

4 x (2+3) =

Start

5x8 (5+6) x 4 =

2x12

(5x3) + (5x5) =

5x10 (7x3) + (7x4) =

49 (8x4) + (8x2) =

7x9 9 x (4+2) =

48 (7x2) + (5x2) =

20

11x4 (4x9) + (3x9) =

9x6

Cut out each strip below.  Glue the start strip in the top 
rectangle to the left.  Then solve the problem on that 
strip.  Next, find the strip with the answer in the star.  
Glue that one in the next rectangle. Continue until you 
have arrived at the “finish” strip.

Start to Finish Puzzle B1
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(5x7) + (5x3) =

PREVI
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Distributive Property

You Did It!  
Finished

32 x (27+16) =

Start

81

(19x5) + (6x5) =

7x49

(7x39) + (7x10) =

32x43 (13x19) + (13x7)=

125 12 x (27x25) =

52x12 (9x7) + (9x2) =

12x52 (17x32) + (17x2)=

48

17x34

(4x7) + (4x5) =

13x26

Cut out each strip below.  Glue the start strip in the top 
rectangle to the left.  Then solve the problem on that 
strip.  Next, find the strip with the answer in the star.  
Glue that one in the next rectangle. Continue until you 
have arrived at the “finish” strip.

Start to Finish Puzzle C1
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(23x12) + (29x12)=

PREVI
EW



You Did It!  
Finished

Start

Start to Finish Puzzle A1
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Distributive Property

KEY

You Did It!  
Finished

Start to Finish Puzzle A2
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Start

KEY

Distributive Property

(3x2) + (3x1) =

7x2 (4x3) + (4x2) =

9

(8x1) + (8x1) =

8x2 (5x1) + (5x0) =

8 (4x1) + (4x2) =

6x4 (3x1) + (3x3) =

12 (6x2) + (6x2) =

5x1

3x4 (7x1) + (7x1) =

20

(2x2) + (2x2) =

(6x1) + (6x1) =

2x3 (4x1) + (4x1) =

5x3

(2x1) + (2x2) =

3x3 (4x2) + (4x2) =

5x4 (9x1) + (9x1) =

4x4 (3x2) + (3x2) =

3x4 (5x1) + (5x2) =

9x2

4x2 (3x2) + (3x1) =

6x2 (5x2) + (5x2) =

PREVI
EW


